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1. FSFEHEHR

90 4 DF 11,000 F
XANEDAHER (BREEBIREREERUZTET)

2. BE—EX
(F3 - Bta)
1~10 A 49,500 33,000 16,500
11~20 A 66,000 44,000 22,000
21~30 A 82,500 55,000 27,500
31~40 A 99,000 66,000 33,000
41~50 A 115,500 77,000 38,500
51 ALLE10 A& +16,500 +11,000 + 5,500
L A=
HIBER (A= -Fry ) HHIR B 5E&ET B 3[E&ET
BESE2 - S FR O - -
m&% (5hRS - WEB) B3@E&ET B1E -
TR - BIERESE O O -
5@ - HRFRRBETFGR O O =
518 - HRRRFEEETS O - -
RRESERK - R - fEEER A O O =
3. ARw ~ERE
(F3 - Bta)
FhELERE 22,000~ SSEMRPRRAGRAILIE 22,000~
HARREEERE 33,000~ ERFRRBEFASEEMSER 22,000~
FRIRREERREROZERL 11,000~ SEIRIREIEE - BEERS 33,000~
EXMBEROZERE 22,000~ RREEBREGOSZERLD 11,000~
faftEsEk (FEFR<) 11,000~ #aftEEK (FEkR<) 11,000~
AR (&) 55,000~ #afIEER (Ff) 55,000~
BiEHER 33,000~
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4. FERANER

(4 - #t:d)

Bl 550,000 330,000 220,000
Tatm 5BFT 3EIFET 2E&EXT
FEHRIZERK HEHIR 54FT —
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nES= Bl O - -
EafseEl5| BRIV (L7 L50%/ RIVT—R25%,/514 ~ 10%)

O ERIEDOH XK= ILEMERKIFRERBEVVZULERT
QERISARLANC DWW TIL, %EFEETFEFC 55,000 HERIZ Tz UEXT (EBTTHRICEE)

5. BmEEARAYR—F (BERSROH)
ARINEREN & U TBIREERD 15% (FRIKEE 110,000 )

6. WFEtE (BRESED)

(3 - 2)
HEEXEE (1~10 A) 22,000
EBMEE (11 ALE1 AICDE) 1,100

7. FEITIT 10T (BEHT - bBiE - ik - BHEE - #REE)

(F3 - Bta)
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